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For the support of the horse is on his forelegs - 197> % pon7 NIy

Overview

"99 27 cites a (partial) 71wn where *01 "1 distinguishes between a horse (who is Xnwvn
by his forelegs) and a donkey (who is Xnvn by his hindlegs). Our n190n cites the
entire 73w and explains the proof of *oo 27.

= 119112 %3) DY 2919 NN (1 mwm) 77 PAD BT HIVN NY 1IN 29N
This is how the 7wn is taught in '? 299 2°37 noo»; a 21 who was riding on top of
an animal -

= WOV Yy THnYY N5199Y 2391 MNHNL NNNA YTHY NN NPV YaIN)
And there were four 2°n°>v under the four feet of the animal; the N5 are 1™,

because the animal can stand on three feet -
= 2NN10 Y391 19 HNH 09X 1NV NNH 01 YNV HNH HNN YL NN

If there was one n°>v underneath both forelegs, or underneath both hindlegs, or

underneath one foreleg and one hindleg, the n°7v is x»Y -
= 9915 172 NNPVN VDN 9IIN YD ’a9

o' "1 ruled the horse is X the n°2v with his forelegs only, etc. This concludes the mwn.
= 3NWIIN NON 1999 ND 209 9297 PNYY 139299 NN

And it is the view of the "1 that >0y ' only argues on the Xw»°" -
- 199 XY NPV DI9H SNV NN SINPT NOPON YaN

However regarding the X5°0 which teaches that if there was one n°%v under the

two hindlegs, the n>>v is R»Y, in this case °01° "1 does not argue -
= TYY D192 NN KD 19X INY RDAT NIN VIV 927 #9975 DY DIDN MYYNT 21 Yy GNT

For even though >"1 maintains that 177> %y 81077 niyw», it is an obvious fact that
without his two hindlegs the horse cannot stand.

n1voIN asks:

! This is the same 71wn we had on the '} Ty,
2 The nnm2 needs to have at least three feet on the ground to support herself; therefore a n*7u which is under any two
feet of the nn2a is under the (full) weight of the fnn2.
3 The o>nom ruled in the Xw™ that when there are four N0 under the four feet of the animal they are all 1370 (because
the animal can stand on three feet), to which >"- disagrees that since 17> 2y 01071 nyw» so the two front feet will always
be supporting (the 21 on) the horse and those nv%v will be &nv. *"1 will agree that the two n1*5v on the hind legs are
M, for both are not needed to support the horse. It appears that 01077 7"72 *"w agrees with this (that *01 " argues on
the xw™).
4 One may have (mistakenly) assumed that since "7 ¥ 0107 Nwwn, therefore the nN¥2v which is placed underneath the
horse’s hind legs do not support the weight of the a1 on the horse (only the front legs carry the weight). n1901n rejects
this out of hand, since it is one n*9v underneath both legs, one of them certainly supports the horse.
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The 5''9 has a difficulty; why did 92 27 see to bring a proof from the X2%0 of the

mwn that wnn 12 PR ¥»0n -
- 55595 55199NT 19297 119193910 NN 9519593 N

And he did not bring proof from the Xws9 of this 771w» from the ruling of the 3229,
as X277 wn 7°21 27 brought proof previously that wnn 12 px y»on —

nBoIN answers:
= 9INTH RN NYIINT DIVNT PNYS 13929 99IN)

And the "9 answered, it is because we can deflect the proof from the w9 -
= 59 NYPYT NN SINY YD 9350Y SyaTs

As XNpo> T2 771 27 wanted to say previously; ‘here (by 7272) it is different for

she picked up her foot completely’ so it is not even a y>>on -
- TRAPYT DIYN NMAYOT INTINAY XYY YD) 29N YaN

However regarding the proof from 3% we cannot refute it by saying that his

reason why under the hind legs the 2°n*5v are 2>1v because she lifts up either one

of her hind legs (and not because wnn» 12 PR ¥»0n) -
$INY NIPYT 9 RVIWOT 599752 199N DIDN NNV RY )5 ONT

For if indeed that is the reason (that 77pY), so >"1 should agree that the horse should
not be X»w» the N1°ov, even those that are under 979, for it is certain that the horse
occasionally also lifts his forelegs.

Summary
"9 agrees that one n°>v under two hindlegs are RXnvn. The proof from > is more

convincing than the proof from the 7127.

Thinking it over
What is the connection between this which n1901n surmised that 295 X? X9°0X, with

the following question of the *"4?°

5 See ‘Thinking it over’.
6 See on the 'x T11y.
79" agrees with the 1327 in the case of 717727 °231 '7 NAN NYY 7 that the two back N1¥9v are ML (he argues only that
the o°n°%v under 7> are MRav). The question is are they MM because wnn 12 PR ¥»0n (which 99 11 is trying to
prove), or are they N11L because 137 7PV so it is not even a ¥>on (as XnIp0 1 7797 ' wanted to refute).
8 If the reason the hindlegs are not X»vn is because 7Py, so what is the difference between the front and hind legs; the
horse picks up all of its feet (at different times); however if we say that it is because the hind legs are only ¥ on, since
17> H¥ 01077 NWwn then all is understood. The hind legs are not Xnvn for they are only ¥»on, and the front legs are xnun
because they give the (main) support.
? See (footnote # 5 and) *n v naw.
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